Perimeter Word Problems Answers
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Perimeter Word Problems

. A farmer wants to put a fence around a piece of land to keep his
sheep away from his cows. One side of the fence is 12m, the second
side is 1Tm and the third side is 13m. What is the total perimeter of
the fence?

12m 13m

11lm

. Oliver wants to measure the perimeter of his bedroom. His bedroom
floor is an exact square and one side measures 4m. What is the

perimeter of Oliver’'s room? 4m

. Andy has baked a rectangular cake and wants to place a ribbon 24cm
around the perimeter of the cake. He uses a ruler to measure
each side and he writes down the measurements of 24cm, 14cm, l4cm l4cm
24cm and 14cm. How much ribbon does he need to go all the way
around the cake?

24cm

. Ellie wants to run around the perimeter of the rectangular school 80m
field. The two long sides are each 80m long and the two short sides

are each 35m long. How far will Ellie travel if she ran around the 35m
perimeter of the field?

15cm
. Katie has a hexagonal fish tank. She wants to buy a strip of fake plants to

stick around the perimeter of the tank. All the sides measure 15cm each.
How many centimetres of the fake plants will she need to buy to stick all
the way around the fish tank?

. Molly is moving house and needs to put sticky tape around two 60cm

separate square boxes. The two boxes are the same size and all the
sides each measure 60cm. What length of tape does she need to tape
the perimeter of both boxes? 60cm
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